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s Reading fime — 5 minutes Pages2-9

+ Working time — 2 hows
20 marks
+  Write using blue or black pen o

: “s  Attempt Questions 1-20
s Calculators may be used
»  Allow about 30 minutes for this section

¢ Write your Centre Number and Student
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2016 PRELIMINARY EXAMINATION
MATHEMATICS GENERAL

Section I
20 marks

Attempt Questions 1 —20
AHow about 30 minutes for this part

Use the multiple-choice answer sheet provided for Questions 1-20

Select the alternative A, B, C or D that best answers the question. Fill in the response oval
completely.

Sample  2+4= (A)2 B6 (C)8 D)9
A B&® cO DO

If you think you have made & mistake, put a cross through the incorrect answer and fill in the
NEW ANSWer.

A B & cO DO
T you have changed your mind and have crossed out what y_ou consider to be the correct
answer, then indicate-this by writing the word correct and drawing an arrow as follows:

correct

A B cO  pO

provided Pages 11-24
60 marks . . . . .
1 The Spark family noticed that their electricity bill had risen from $784 to $941,
o Attempt Questions 21 - 24 Calculate the increase as a percentage of the original bill.
- Answer to the nearest percentage.
e Allow about 1 hour and 30 minutes
for this section (A)  17%
B) 20%
C 8%
™ 120%
Disclaimer
- Every effuet has been made to prepass this Fxamiration in 2ccordznce with the Board of Stodies docvments. No goarentes of warrandy is made or implied
ihat the Emmnmlm pager s mmm m. every respect the actual HSC I-‘.ta.mmalzon question peper in ﬂus course. This pep-a: doss pot constitute adﬂce ny can
dayan tatenroiBoard-otShudierh Ho-tizbitity-for pose-seleied to-thivpeperirtilen-
Adme on HSC examination lssves is only ta be obtained from the NSAY Board Ofshsdlb T‘he pubhs.her doss notawept any rcspu:mib‘ln‘;lt:c‘u aceuracy of
pepess which have been modified. MGPRELS_EXAM 2
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2 Given v=u+at, find the value of v correct to | decimal place, if # =735, a=0.02

and t=6.8. 6 A baby’s weight is measured to be 2.88 kg.

(A) 7.486 Which of the following statements is not correet?

®B) 749 :

< 74 - (A)  The precision of the weight measurement is £0.08 kg

o 73 (B)  The absolute error of the weight is £0.005 kg

(C)  The relative error of the weight £0.0017 kg

3 0.8% per month interest is equivalent fo which of the following interest rates: (D)  The percentage error of the weight is £0.17%

(answers are correct to 3 decimal places)

7 Which of these graphs could represent the line y=3-2x7

(&) 9.600% per anoum '

B  0.026% per day i~ (8)

(C)  0.185% per week

(D) Al of the above 7 y
4 Sonja buys a pair of boots and a coat at MARCS during the winter sale, .

for a total of $480. The boots are normally $290. 0 x
What is the normal price of the coat? / /
MARCS Winter Sale / 0 X
25% of all footwear
20% off all coals

(a) $190

B) $217.50 © ©)

(©) $262.50 , r4 » 9

(D) $328.13 _ \ '

. : 0 .

5 An event that occurred 27 times has a relative frequency of 0.3.

How many trials were performed in this experiment?

@ 9 - —
® sl ‘ \
© 9% .
o 27
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MGPRE1I6 EXAM

8 Determine the perimeter of the figure shown. 12 Examine this data display.
158 mm
I - 11158
121026
73em 1311123479999
1410012558
1512478
(A) 330.6mm 16 ] 1
B 462cm
{C) 33.06cm Which of the following statements is NOT comect?
Oy 11534 cm
. (A) The mode is 139,
9 Expand and fully simplify 15— Z(x + 6) . (B) The median is 137,
(&) 15-2v—12 (C)  The range is 46.
®  3-2x (D)  The display is called a stem-and-leaf plot.
C)  13x-78
o 13x-19 13 Select the correct operation to calculate the length of side AB.
A
10 Charlotte works part time at a fast food outlet and is paid at a rate of $15.70 per hour.
On Sundays she is paid double time. Calculate her pay for a week in which she works 8.5 em
9 hours during the week and 6 hours on Sunday.
370
(A)  $471.00 B ¢
266.90
(};) 2329 2o (A AB=85xsin37
© . B)  AB=85xcos37"
(D) $235.50
() 8.5
AB= ey
sin37
D)  4B=37xtand5’
11 The number 5§ 726 400 written in comrect scientific notation is:
) 57264x%10°
My 57264 x10°
© 57264
(D) 5.7264 x 1600000
5 MGPRE1§_EXAM 6




14 Vicioria works as a casual in a supermarket, She is paid $17.20 per hour, and if she
works on a Sunday she is paid at the time and a half rate. One week, Victoria worked
for 5 hours on Wednesday, and was called in o work on Sunday. She was paid $185.20
in total.

How many hours did she work on Sunday? -

{A)  6hours
{B) 11 hours
{C) 5 hous
) 4hours

15 Dale analyses a set of data and produces this 5 number suramary:
6, 11,22,30,35
Which of the following is definitely a correct statement about the data set?

(A) Range=29 Interquartile Range = 19
(B) Mean=20.8 Range =29 )

(Cy Median =22 Interquartile Range = 20,5
(M Mode=6 Median =35

17 The times, in minutes, that a large group of students spend on exercise per day are
presented in the box-and-whisker plot.

1 —

10 20 30 40 50 60 70 80 90 100 110 120

What percentage of these students spend between 40 minutes and 60 minutes per day
on exercise?

&) 7%
®  20%
© 25%
D) 50%

18 Pat invests $15 000 in a bank account which earns 6% p.a. interest caleulated quarterly.
Which of the following calculations should Pat use to get the future value of the
investment after 3 years?

& 15000(1.06)

16 \Which of the following s equal to the fraction %7 B 15000(1.06)"
(&) 8% ©- 15000(1.015)"
®) 37.5% @ 15000(1.015)°
&) 38
® 3
3 19 An octahedron die has eight faces, numbered 1 to 8.
When the die is rolled once, what is the probability that it lands on an even number
greater than 37
@ i
8
® 3
8
© 1
4
® 1
3
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20 The diagram shows that Minh and his sister Truc are standing side by side. ' 2016 PRELIMINARY EXAMINATION

Truc is 1.4 m tall and casts a shadow 3.5 m long. How tall is Minh if his shadowis 5 m MATHEMATICS GENERAL
long?
one Minh :
Trac ’
LL LT
Centre Number
h
14m - | ENEEREREEEE
Student Numbser
Section II ,
35m 60 marks ) R
<«<— Sm Aftempt Questions 21-24
&) 12m Allow about 1 hour and 30 minutes for this part
B) 33m Answer the questions in the spaces provided.
© 38m Show all relevant working in questions involving calculations.
@Dy 20m
Question 21 (15 marks)
{2) Solve the following equation: S(m - 2) +7=3m+11 3

fb) Clarissa purchases a luxury car for $87 500, She is told the value of the car will
depreciate annually a rate of 28% of its current value.
Use the declining balance method to determine the value of the car afier 3 years. 2

Question 21 contfinues over the page
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Question 21 {continued)

(¢) The graph of y=x+72 iz shown on the number plane below.

Yy n

g y=x+2

/

/

v

() On the same number plare, sketch the straight line y = —% +5.

You may complete the table of values provided to help you.

x

-1

¢

1

2

3

Y

(ii) Write down the coordinates of the point of intersection of y=x+2 and

Question 21 continues over the page

Question 21 (continued)

{d) A surveyor made the following notebook record of a piece of land.

(i) Use a ruler to complete the diagram started for you below using the scale | cm= 10 m.,

A

15(55 B
D 30|50

80

C

Question 21 continues over the page

1
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Question 21 (continued) Question 22 (15 marks)

(&) A motorbike was purchased for $7 200 and valued 12 months later at $6 050. Th tte shape below is made fi le and i-cirol
Fxpress the decrease in value as a percenfage of the purchase price, to the nearest (@) e composite shape below 1s made irom a rectangle and a semi-clrele.
percent. 2 Calculate the perimeter of the shape correct to the nearest cenfimetre.

[ Diagram not to scale J

(f) Caleulate the angle PRQ) correct to the nearest degree, 2
S
DSem’
o R
6.2cm S {(b) The number of standard drinks in a container can be caleulated using the formufa:
N=0789xV x4
.................................................................................................. N = the number of standard drinks
------------------------------------------------------------------------------------------------- V = the VOIume Of ﬂle container in litres
) A = the percentage of alcohol (% ale/vol) in the drink
Calculate the number of standard drinks in a 750 mL bottle of red wine
with an alcohol content of 14% alc/vol. Answer correct to the nearest whole number,
Endof Question 21

Question 22 continues over the page
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Question 22 {continted)

{¢} - Demi wants to buy a new car which has a purchase price of $58 725.

She is offered finance terms of 15% deposit of the purchase price, and monthly
repayments of $1 351.90 for 5 years.

To purchase the car (whether with cash or using finance terms) she must pay the
following fees:

Registration §1 720
Tnsurance $1 295
Stamp Duty $2 935

(i) How much deposit does Dent pay?

(i) How much would she pay in total to own the car if she paid the cash price
rather than finance terms?

Question 22 continnes over the page

Question 22 (continued)

(d) The following cumulative frequency table shows the results of a class test out of 15.

Score (x) Frequency (/) Cumulative
Frequency (¢f)
9 5
10 9
11 16
12 18
13 20
14 28
i5 . 32

(i) Complete the frequency column on the table above,

(ii) Find the mean score of this set of data.

End of Question 22

MGPREIG_EXAM 16
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Question 23 (15 marks)
Question 23 (continued)

(a) A mobile phone company charges according to the table below.
(b) A 56 kg woman wants to keep her BAC < 0.05. How many full standard drinks

Charges for the Plans are calculated every 30 days. ' can she consume in 3 hours to remain under 0.057 3
Callcosts = [BASEUVUEEUIVEEALVLE e
Standard voice/videa calls to standard E5centsper 30second blockplus { Unlfimited | s e
Australizn numbers {per 30 second block] 40 cents call connection fee
Text to standard Australian numbers Unimied |
MMS to standard Australian numbers 50 cents Unlimited (6) A circular swimming pool has a diameter of 10 m and & depth of 2.3 m,
MessageBank connection fee {per call) 40 cents Unlimiged
MessageBank retrieval {per 60 second block} 80 cents Uniimited
Excess data usage {charged per MB) . 25 cents per MB A
23m l
(i} Tiana is on the $50 Plan. How much will she be charged for one 15 minute phone
cail? ) 1
10m
(i) Calculate the volume of the swimming pool to the nearest m?, 2
(ii) If Tiana rings her mother 3 times per month and speaks for 15 minutes, would she
be better off on the $100 Plan? Assume the plans are charged every 30 days. e e s s e e a e
Support your decision with calculations. 2
.................................................................................................. (ii) Calculate the number of litres of water required to fill the pool. Answer to the
nearest litre. 1

Question 23 continues over the page
Question 23 continues over the page
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Question 23 {continued) Question 23 (continued)

(d) The scatfergraph shows the number of kilometres a car can travel per litre of petrol at (e} The graph below shows a straight line.
different speeds. ¥
F
i 18
Fuel Consumption
24 A
RNEE /
22 --———.% 1.1 7A§_k{7
20 U A N S -
g 18 O O A O 0 I
g 14 Y Py :-,:,S,.,,,,} Ol 5_
'fgi 12 &
g 10 & & i .
o -
o8
g ¢ ¢ ¥
Z 6 ¢ & (i) Find the gradient of the line shown on the graph.
4 ¢ Y S
2 % ..................................................................................................
0 T T T T T ¥ T T T T ¥ T T T ] 1

0 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160

Speed kmyt (ii) Write down the y-intercept.
() At approximately what speed is the car most efffcient? L s
.................................................................................................. (iii) Write down the equation of the Sh’aight Iine shown above
(ii} A carhasafull tank of 50 litres. If it travels at an average speed of 80 kivh,
how far can it travel on one full tank? 2 End of Question23

Question 23 continues over the page
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Question 24 (15 marks)

(2) Stamp duty iz payable on the purchase of a car and is payable according to the following scale:

Price of Car Stamp Duty Payable

$3 per $100 or part thereof
of the value of the car

Up to and Including $45 000

$1350 plus $5 per $100 or part thereof

QOver 545 Q00
5 of the value of the car over $45 000.

Jordan and Shane both buy cars. Jordan buys a car for $43 500. Shane buys a car for $48 250.
What is the difference in the stamp duty they pay?

(b) A survey was conducted among a sample of year 12 students in a high school about
whether the school uniform should include long pants for girls.
The results are shown below.

Bays Girls Tatal
Long pants 12 8% 101
o Long pants 37 2 39
Total 49 a 140

(i) How many boys surveyed did not want girls fo be able to wear long pants?

(ii) What percentage of students are in favour of allowing girls to wear long parts?
Answer to the nearest percent.

Question 24 continues over the page
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Question 24 (continued)

(iii) Comment on why this survey is not a good random sample of all students at
the school.

OO ROPPP

(c) Sam has a 2TB USB drive she uses to store her movies,
(i) Convert2 TB into MB,
(ii) How many movies of size 625 MB will the USB drive be able to hold?
(i) Sam wants to download a 625 MB movie. How long will it take to download
the movie if the download speed is 990Kbps? Answer to the nearest minute,

1

1

Question 24 continues over the page
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Question 24 (continued)

{(d) Taylor has an annual gross income of $102 335 and eamed $12 770 from his
investments this year, He has paid PAYE tax of $43 798 to the Australian Taxation Office,
and has allowable deductions totalling $22 590.

Taylor will need to pay a Medicare Levy of 1.5% on his taxable income.

(i) Catculate Taylor’s taxable income.

Tax rates 2015-16

‘The following ratas for 2015-16 apply from 1 July 2015,

‘Taxable Ircome -+ }:Tax on this Income™ =

0 =%18,200 Hi

$18,201 - §37,000 ; 19¢ for each $1 aver $18,200

$37,001 - 580,000 | $3,572 plus 32.3¢ for each $1 over $37,000

$80,001 - $180,000 | $17,547 plus 37¢ for each 51 over $80,000

$180,001 and over | $54,547 plus 45¢ for each 51 over $180,000

(ii) Using the tax table provided, calculate Taylor’s tax payable.

(iv) State whether Taylor will receive a tax refund, or incur a tax debt, and support your
decision with calculations.

End of Paper

ah AsssentTas

PR
2016 PRELIMINARY EXAMINATION

MATHEMATICS GENERAL - MARKING GUIDELINES

The sample answers indicate features that should be found in a response that receives full marks.

For the extended response questions, a set of guidelines is included rather than a sample answer.

Exam Section | Question Marks Answer

1 1 B
Section I 2 1 D
3 i D
4 1 D
5 i C
6 1 A
7 1 C
8 i B
9 1 B
10 1 C
11 1 A
12 1 B
13 1 A
14 1 D
15 1 A
16 1 B
1 ¥ 1 C
i8 1 C
19 1 B
20 1 D

Distlaimer

Every effort has been made to prepare this Examination in accordence with the Board of Studies documents. No guarantee o wamany is made o
impliad thst the Exsmination paper mirmors in every respect the ctuzl HSC Examination question paper in this course. This peaper does oot constitute
*advice’ nor edn it be construed as 2n authoritative interpretation of Board of Studies intentions, No Lkability for any reliance uss oc purpose rlsted to
this paper is taken. Advice on HSC examination issues I oaly to be obtained from the NSW Board of Studies, The publisher does not accept any
responsibility for accuracy of papers which have bean modified.
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Exam : : Targeted Exam Targeted
Section Question | Marks Syllabus/Course Strand Performance Answer Seetion Question | Marks Syllabus/Course Strand Performance Answer
Cutcomes Bands Qutcontes Bands
SeetionII | 21 (a) 3 MPG-1, MPG-2, MPG-3, | AMI 3 m=7 23 (&) (ii} 1 MPG-1, MPG-2, MPG-3, AM2 3 b=2
MPG-9, MPG-10 MPG-9, MPG-10
21{b) 2 MPG-1, MPG-2, MPG-3, FM2 4 $32 659.20 23 (e) (iii) 1 MPG-1, MPG-2, MPG-3, AM2 3 y=3x+2
MPG-6, MPG-9, MPG-10 . MPG-9, MPG-10
21 (e} (i} 1 MPG-1, MPG-2, MPG-3, AM2 4" See solutions 24 (a) 3 MPG-1, MPG-2, MPG-3, FMm2 6 $210
MPG-9, MPG-10 MPG-6, MPG-9, MPG-10
21 (c) (ii} 2 MPG-1, MPG-2, MPG-3, AM2 4 2,4 24 (b)) i MPG-1, MPG-2, MPG-7, D81 4 37
MPG-9, MPG-10 . . MPG-10
21 (d) (i) 1 MPG-2, MPG-3, MPG-4, MM2 3 See solutions 24 (b} (ii) 1 MPG-1, MPG-2, MPG-7, Ds1 4 2%
MPG-5 MPG-10
21 (d) (i) 2 MPG-2, MPG-3, MPG-4, MM2 - 3 BC=919m 24 (b) (iit) 1 MPG-1, MPG-2, MPG-7, DSi 5 See solutions
MPG-5 ‘ MPG-10 .
21 (e) 2 MPG-1, MPG-6, MPG-9, FM1 4 16% 24 {c) (i) 1 MPG-2, MPG-3, MPG-4, MMI 5 2097 152 MB
MPG-10 . MPG-5
21 () 2 MPG-2, MPG-3, MPG-4, MM3 4 APRQ: 60° 24 {c) (i1} 1 MPG-2, MPG-3, MPG-4, MML 4 3355 movies
MPG-5 MPG-5
22 (a) 3 MPG-2, MPG-3, MPG-4, M2 5 76 cm 24 (c) (iii) 2 | MPG-1, MPG-2, MPG-7, DS1 6 $8 minutes
MPG-5 MPG-10
22 (b) 3 MPG-1, MPG-2, MPG-3, AM1 5 § standard 24 (d) (D 1 MPG-2, MPG-3, MPG-4, FM3 5 892 515
MPG-9, MPG-10 drinks MPG-9
22{c)([® 1 MPG-1, MPG-6, MPG-9, FM1 3 $8 808.75 24 (d (i) 1 MPG-2, MPG-3, MPG-6, FM3 4 8§22 177.55
MPG-10 MPG-9
22 (o) (i) 2 MPG-1, MPG-6, MPG-9, FM1 4 $64 675 24 (d) (iid) 1 MPG-2, MPG-3, MPG-6, FM3 4 $1387.73
MPG-10 MPG-9
22 (c) (jii} 2 MPG-1, MPG-6, MPG-9, FM1 6 $31197.75 24 (d) (iv) 2 MPG-2, MPG-3, MPG-6, FM3 6 Refund =
MPG-10 MPG-9 $20232.72
22 (DD 1 MPG-1, MPG-2, MPG-7, D83 3 See solutions
MPG-9, MPG-10
22 (d) (i) 2 MPG-1, MPG-2, MPG-7, DS3 4 12
MPG-9, MPG-10
22 (d) (i) 2 MPG-1, MPG-2, MPG-7, DS3 5 11.5
MPG-9, MPG-10
23 (@) (i) 1 MPG-1, MPG-6, MPG-9, Fml 5 $19.90
MPG-10
23 (a) (i) 2 MPG-1, MPG-6, MPG-9, FML 6 Yes.
MPG-10 See solutions
23 () 3 MPG-1, MPG-2, MPG-3, AMI1 5 3 standard
MPG-9, MPG-10 drinks
23 {c) (i) 2 MPG-2, MPG-3, MPG-4, MM2 4 181 m?
MPG-5 ]
23 {c) (ii) 1 MPG-2, MPG-3, MPG-4, MM2 4 180642 L
MPG-5 (181 000 1)
23 {d) (i) 1 MPG-1, MPG-2, MPG-7, DS3 3 60 km/h
i : MPG-9, MPG-10
23 (d) (i1) 2 MPG-1, MPG-2, MPG-7, Ds3 5 1250 km
MPG-9, MPG-10
23 (e) (i) i MPG-1, MPG-2, MPG-3, AM2 4 m=3
MPG-9, MPG-10
MGERE16_GUIDELINES Page 2 MGPREL6 GUIDELINES Page 3




Section IT 21 (d) () (1 mark}
Qutcomes Assessed: MPG-2, MPG-3, MPG-4, MPG-5
Question 21 (15 marks) Targeted Performance Bands: 3 -
21 (8) (3 marks) Criteria Mark
Outcomes Assessed? MPG-1, MPG-2, MPG-3, MPG-9, MPG-I0 «  Accurately constructed location of point D i
Targeted Performance Bands: 3
Criteria Marks
+ Correct solution of =7 3
¢ Progress toward correct solution 2 21 (d) (if) (2 marks)
» Correct expansion of 5(m—2) = 5m—10 1 Outcomes Assessed: MPG-2, MPG-3, MPG-4, MPG-§
Targeted Performance Bands: 3
Sample answer Criteria Marks
Sm-10+7=3m+11 e (orrect answer 2
Sm—3=3m=11 « Evidence of the use of Pythagoras’ Theorem 1
Zm=14
Sample answer
m=1 BC*=65% +55
21 (b) (2 marks) BC=851m
Outcomes Assessed: MPG-1, MPG-2, MPG-3, MPG-6, MPG-9, MPG-10
Targeted Performance Bands: 4 21 (e) (2 marks) :
Criteria Marks Outcones Assessed: MPG-1, MPG-6, MPG-9, MPG-1§
s Cormect solution 2 Targeted Performance Bands: 4 ___
Criteria Marks
» Use of correct formula 1 P — 5
Sample answer » Calculation showing denominator of 7200 1
§=87500{1-0.28)’ Sample anstver
=$32655.20 00 —
%060050 %100 = 16%
21 (c) (i) (2 marks) _
Qutcomes Assessed: MPG-1, MPG-2, MPG-3, MPG-8, MPG-10
21 (f) (2 marks)
Targeted Performance Bands: 4 ___ : Outcomes Assessed: MPG-2, MPG-3, MPG-4, MPG-5
Criteria Marks Targeted Performance Bands: 4
s Accurately constructed straight line 2 Criteria Marks
s Corzectly completed table of values 1 » Cormect answer 2
¢ Use of the cos ratio 1.
Sample answer .
Sample answer
6.2
21 (e} (if) (1 mark) cos ZPRQ = 25
Outcomes Assessed: MPG-1, MPG-2, MPG-3, MPG-9, MPG-10 .
Targeted Performance Bands: 4 £LPRO =60
Criteria Mark
» Bothx and y values correct 1
Sample answer
(2,4)
MGPREL6_GUIDELINES Page 4 MGPREL6 GUIDELINES Page 5




Question 22 (15 marks)

22 (a) (3 marks)

Outcomes Assessed: MPG-2, MPG-3, MPG-4, MPG-5
Targeted Performance Bands: 5

22 () {iif) (2 marks)
Ounicomes Assessed: MPG-1, MPG-6, MPG-9, MPG-10
Targeted Performance Bands: 6 .

Criteria Marks Criterin Marks
+ Correct answer 3 *  Cormect answer 2
s Evidence of calculation of perimeter 2 + Correct amount for purchasing on finance terms 1
s Evidence of use of circumference formula 1 )
Sample answer
Sample answer Finance =1351.90 x 12 x 5+8808.75
1 : =$89922.75
P=7+24+7+r2~xfrx24 Extra = §9922,75—- 58725
F=76cm =$31197.75
" 22 (b) (2 marks) 22 (&) (D) (1 mark) .
Outcomes Assessed: MPG-1, MPG-2, MPG-3, MPG-9, MPG-10 Ouicomes Assessed: MPG-1, MPG-2, MPG-7, MPG-9, MPG-10
Targeted Performance Bands: § : Targeted Performance Bands: 3
Criteria Marks Criteria Mark
+ Correct answer 2 ¢ All values in the column correct I
* FEvidence of substitufion into formula, but with F=750 1
Sample answer 22 (d) (ii) (Z marks)
N=0.780x0.75x14 Oufcomes Assessed: MPG-1, MPG-2, MPG-7, MPG-9, MPG-10
_ Targeted Performance Bands: 4
N=828 Criteri Marks
There are 8 standard drinks. riteria ar
¢ Correct value for the mean 2
22 (c) (i) (1 mark) » Bvidence of calculations leading toward correct answer I
Ouicomes Assessed: MPG-1, MPG-6, MPG-9, MPG-10
Targeted Performance Bands: 3 Sample answer
Criteria Mark _agd
¢ (Correct answer 1 ¥ 23
x=12
Sample answer
Dep=15%x58725 22 (d) (iii) (2 marks)
=$8088.75 Ontcomes Assessed: MPG-1, MPG-2, MPG-7, MPG-9, MPG-1¢
Targeted Performance Bands: §
Criteria Marks
22 (¢) (if) (2 marks) : + Correct value for the median -2
Outcomes Assessed: MPG-1, MPG-6, MPG-9, MPG-10 + EBvidence of calculations leading toward correct answer 1
Targeted Performance Bands: 4
Criteria Marks Sample answer
s Correct answer 2 Median=11.5.
* Evidence of addition of fees 1
Sample answer
Totalcashprice = 5872541720+ 1295+ 2935
= 564675
MGPRELS GUIDELINES Page 6 MGPRE1§ GUIDELINES Page 7




Question 23 (15 marks) 23 () (i) (2 marks)
23 (a) (i) (1 mark) Outcomes Assessed: MPG-2, MPG-3, MPG-4, MPG-5
Ountcomes Assessed: MPG-1, MPG-6, MPG-9, MPG-14 Targeted Performaince Bands: 4
Targeted Performance Bands: § Criteria Marks
Criteria Mark e Cormect answer 2
¢ Correct answer 1 o Use of correct formula, or incorrect formula with correct vatue of radius 1
Sample answer Sample answer
cnecall = 0.4 +0.65 x 30 V=ax5ixdd
_ 3
23 (2) (i) (2 marks) =181m
Ouiteontes Assessed: MPG-1, MPG-6, MPG-9, MPG-10 .
Targeted Performance Bands: 6 23 (e} (it) (1 mark)
Criteria Marks Outcomes Assessed: MPG-2, MPG-3, MPG-4, MPG-5
; Targeted Performance Bands: 4 ‘
. gorrect zns?v?r supporteddbi c:jllculatlons — ? Criteria Mark
* Correct decision supported by incorrect caleulation «  Correct value for the capacity. Allow CFPA and 181 000 L 1
Sample answer Sample answer
Cost =19.90x 3 Capacity = 180642 L.
=§59.70
She should move to the $60 plan. 23 (d) (i) (¢ mark)
Oulcomes Assessed: MPG-1, MPG-2, MPG-7, MPG-9, MPG-10
23 (b) (3 marks) Targeted Perfornance Bands: 3
Ontcomes Assessed: MPG-1, MPG-2, MPG-3, MPG-9, MPG-10 Criteria Mark
Targeted Performance Bands: 5 1
Criteria Marks * Correot anser
e Correct answer of no more than 4 drinks 3 Sample answer
» Corect caleulation of ¥ =4.145 2 60 knvh.
»  Correct substitution into correct formula 1
23 {d) (i) (2 marks)
1
Sample answelio N—75%3 Onteomes Assessed: MPG-1, MPG-2, MPG-7, MPG-9, MPG-10
0.05= W Targeted Performance Bauds: 5
wx Criteria Marks
0.05% 308 =10N —22.5
10N =154+22.5 « Correct answer 7
TATEs ¢ Progress towards the correct answer 1
10N =379
N=379 Sample answer
She should not drink more than 3 standard drinks, 80 kmv/h uses 4 1/100 km,
50+4x100=1250 km.
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23 () (i) (1 mark)
Outcomes Assessed: MPG-1, MPG-2, MPG-3, MPG-9, MPG-10
Targeted Performance Bands: 4

Question 24 {15 marks)

24 (a) (3 marks)

Ontcomes Assessed; MPG-1, MPG-2, MPG-3, MPG-6, MPG-9, MPG-10
Targeted Performance Bands: 6

Criteria Mark Criteria Marks
-»  Correct answer 1 ¢ Corzect answer 3
s Correct value for Shane’s duty 2
Samg]e answer s Correct answer for Jordan’s stamp duty t
m=3.
23 (9 i) (1 mark) Jordan: 43543 ~$1305
Outcomes Assessed: MPG-1, MPG-2, MPG-3, MPG-9, MPG-10
. . Shane; 450x3+33x 5=§1515
Targeted Performance Bands: 3 .
Criteria Mark Difference: 15151305 =5§210
s Correct answer 1
24 (b) () (1 mark)
Sample answer Ontcomes Assessed: MPG-1, MPG-2, MPG-7, MPG-10
b=2. Targefed Performance Bands: 4
23 (6) i) (1 k)- Criteria Mark
e) (iii) (1 mar
Outcomes Assessed: MPG-1, MPG-2, MPG-3, MPG-9, MPG-10 » Comect angiver !
Targeted Performance Bands: 3
Criteria Mark ?;tmplc answer
» Correct expression for the sfraight line 1 )
Sample answer 24 (b) (i) (1 mark)
y=3x+2, Outcomes Assessed: MPG-I, MPG-2, MPG-7, MPG-10
Targeted Performance Bands: 4 )
Criteria Mark
s Correct answer 1
Sample answer
101, 100=72%
140
24 (b) (iii) (1 mark)
Outcomes Assessed: MPG-1, MPG-2, MPG-7, MPG-10
Targeted Performance Bands:! 5
Criteria Mark
» Comment should reference either age leading to differing opinions, or twice i
as many girls asked as boys
Sample answer
Different year groups will have different opinions depending on iheu' age OR
more girls than boys were asked leading to boys not being represented adequately.
MGPRE16_GUIDELINES ) Page 10 MGPREL6_GUIDELINES Page 11




24 (¢) (1) (1 mark)
Outcores Assessed; MPG-2, MPG-3, MPG-4, MPG-5
Targeted Performance Bands: 5

Criteria

Mark

+ Correct answer

1

Sample answer
2 TB=2x1024x1024

=2097152 MB

24 (¢ (i) (1 mark)
Outcomes Assessed: MPG-2, MPG-3, MPG-4, MPG-5
Targeted Performance Bands: 4

Criteria

Mark

s Correct answer (allow CFPA)

Sample answer
2097152 + 625 =3355 movies.

24 (¢} (ifi) (2 marks)
Ountcomes Assessed: MPG-1, MPG-2, MPG-7, MPG-10
Targeted Performance Bands: 6

Criteria

Marks

¢ Correct answer

2

. 24 (d) (i) (1 mark)

Ouitcomes Assessed: MPG-2, MPG-3, MPG-6, MPG-9
Targefed Performarnce Bands: 4

Criteria

Mark

s Correct answer, Allow CFPA

Sample answer

" Tax payable=17547+0.37x (925 15—~ 80000)

=$§22177.55

24 {d) (iii) (1 mark)
Ountcomes Assessed: MPG-2, MPG-3, MPG-6, MPG-9
Targeted Perfornance Bands: 4

Criteria

Mark

o Correct answer, Allow CFPA

1

Sample answer
M.L.=0.015x92515

=31387.73

24 (d) (iv) (2 marks)
Quicomes Assessed: MPG-2, MPG-3, MPG-6, MPG-9
Targeted Performance Bands: §

¢ Progress towards the correct answer

1

Criteria

Marks

Sample answer
625 MB=625%1024 x1024 %<8

= 5242880000b
= 5242880Kb

5242880 _ 5295.8s

= 88 minutes

24 (d) (i) (1 mark)
Onfcomes Assessed: MPG-2, MPG-3, MPG-6, MPG-9
Targeted Performance Bands: 5

¢ Correct refund amount. Allow CFPA

2

¢ Addition of Medicare Levy and Tax payable

1

Criteria

Mark

e (Correct answer

Sample answer
Taxableincome =102335+ 12770 -22590

=3§92515
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Sample answer
Owing=Tax+Medicare Levy

22177.55+1387.73

$23565.28
Refund = 43798 --23565.28

=$20232.72

1

I
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